6”1 l/

SECTrow 4.
EXERCTSE ]

W= Aﬂ/Ezzsﬂ L1, o0 zij)m BT
/%Mw

}2;71 N 6:{449 e Cx\uwé(, W /4

ra A A g n»éz/z/v ty ROW se Lo

gl ghor M%/ﬂw/éw S A 4

v
/”V’é"""-«: 2l 4?,;/(&” LI *min “t /’7 X = /

5
M e Kone rz |

)

\ T JM .
AT

a:LIJ

| o fes o -2 1107/?,-»&;-2/9
l o =2 1 [o I L:L -

3 4ol —H

~ & -lf; F Xy =0

Xl T/ X3 "'2 x‘[ :0

A A Xy X, Xr -3

Xo = “Ixy —2Zky Lwd S= X

PR Nty Lol S U

3 3 é\u /V’le"év _){): 'a
Xy = Xy %y = "
VN 1 [\*I‘I '
?:r~7'+§f‘*2)mhgc’~/7?,
| o
Lo P4 |
- /”"‘w‘éé)q/bh.u W 4 a»—y( wt .

A

— wm.\‘

B

ap (L20

a] f/*1017)/

;3




